BEOHBSZICOVT
5 HEFIOK
(B3 FE4/1
BIR7E)
7 AN
SH2FEEODANGENR (9702 FEREH)
9-0 TEBEEHHE
SEOERFESICR (Fi8
i (i8) ORER

N
73 FDIK;
&
'R e (CXIEIND:
E ml&+a>$;Ln§’%¥étg%1§l g
STULET {’@(3:/)\0)&3(—3%2;6Ltb\ggggznz'ﬁU\ =z
HEEOR5E NG l%&atw%yxa%ﬁﬁ%ﬂ S ?ﬁmj—%
RESHSE bglo“t‘ srsEOR | BLreaieLET. EREASIRAD
g— ?EB % [—_ﬁ ° (%ﬂ]3¢ %
— ° 3 REEBA
«E*R\ ESEIE{LEHED S TRL e oD | e | EE | Ape) |
?‘Hﬁﬂh&"&ﬁﬁﬂbﬂbm ERES LU | TP 128 8 15?2?? 0958%| 1258% Eg%;zé ¥ CYZ S I I L (BF 45185
o : 210 ) . 25 - SHBRIE [F ES 5 .
mE A ¥, e =t 25 9585 1.258% 095)%3]\ 274,297 A (153,802,230 |5 T M N ] = *@55@ FiE (B0) oBE
=R B525-3 s BRI, 1984 2584 19 fj\ 23015.219,932 118522.310 B oae ot AT| (BAEED)
i 703 || MEORSL 5 o i By  E AERCIEY 2| ERSORE.
N oo = = 6
T BN " 8 WFRBMENORRE THEHE = 520|254 | (BHR
’ BASILITE) 2 =5 505 [BE SHIN (24451 ODRE o [0 5 - 200 152 @ﬁ%‘? -
. = 52| 8 20 £ |19.6695R 532 ®-TF| 5288 | #E TF x5 BB e ) E&gg' T o 18 EBEORELS
il v 5 = — &) B | jﬁﬁ 25 & [1B035R5) gi(;i?gﬁ19.6695@%2458687;;@\ T By THBHEEGS N N
| EeFY 2SI i 3 2075353 28, ' =17 =7 w | B8 — A e
Bl T NEER:I <3 | 7985 170985 4 770085 — #%| 109 S8 | 106 4
1.978(7,6748 [ FA B B B T09BS| 41709R%5| 47 g|® 10 1|4 N ARSI
674,819[1,336,825)3 m T B3 8 p 70935 wg|E  E| 335 3 MG E 214 277 (BRE
90, 098,680/ 1 A g 1 17 1"] 4 7| 2|4BfEcaIE- o £ = - 16| 14 (2RSI2H)
BOTISERSH £UT RBE (GRE 75 B A 0 RORBLE| | Al e
End & VTR A8 & —RITREEOEE - BofBE (%ﬁ;gg;’ﬂ:) B% 6,500 ? T 4712 Z? Ag@ B & i;: - 2? A%gg %i%%%s%
ESEEE = " 7 | AR 350 A| 194 CEBENRE BES | 104 = ERAORELE
REld m@bﬁ%{%@ﬂﬁzﬂ;ji)a1B*ﬁ?ﬂ kEF S '%wfmm;%ﬁﬁ%«feﬂﬁ7%&f§10’0085 e i o = TS o
LS i R EEEECE N ——
X 4| S HR A ER 7 . 2134 9 301l .28|E& BaE 0
3 = : n i |/ =] S#
m || BTRBONES Rl St S G B T8 ety - a1 Ai
—ARITEE| 399 . mem | & AT, DSRLRDEER: EE 9 A9 ==k bk 39| (EEES
9% 316 — BER N (COVTIE TAIC ROEERET = B 93 B PERE )
BAeE | 4915 360’:88[% *2(193.100M( 193,100@ T TAICDES,000mZ 0%, ? L 7%;7}( = 30 23 8@5@&%03%@/ E%Eéﬁ = 72 éé BHENREBEL
. - ,800M| | ez : PREEREPA S| ZOf] 81 = ~2 .
MTSER S LT BiZE| 158,400A 1 B g |- mEpEnEnEs EHA% 28,000 A HIE 81 0 R — 230 | GRE=®
it ﬁﬁﬁ%@zvﬁs saneg] | * 7 7 RemEBRORA. BBRE AT N XIS = Zym wanADsL
o SEEE R D - 5. BRI T = Gz‘s)ﬂgc.g%m; S 77| 18 W8 | - 411 41
3 BEOYE icdegibig] B el L Bl BRCRTSRA T B S S = “I1"or| e et
SIE - BRI PH2ER) | WS # B | 956227F \ gt chiona itk I A - BN EERAORELS
) 3 - 51 N - ) SR=ET, # | 183 S DRELE
:Fﬁjﬁ*jﬁga ﬂg&;;g_é S s 482,6992 9-0 ERELE(LE ! o E T N
; . . (SF3E 48 1 BEE) H&éwgujﬁtﬁ(g%%;%%)% 1t§1’@0)$;’1'3u&?§:|fjﬂ(£ﬁ) T 28 P9 5t % gﬂl = 138 @?
3 R’ B & % 2 29.2% # : (5245108 5% [1.256[1.393
8 TRAREE |\ ° B PR 5 LAED . A8 [T rolaTy
106 ) T S 1ASY s BU3E | EBR w | BB - A9 |A132 | (BRE
i |2 | 2787008 5% | 20% E DB O (A2 77,605 oo | HELTE e T M ol 24 EERROREL
) 320,000/ | 372,700f3 w| FSORR VG —| 2139 2509 ik | gEes| |0 Hio 701 0
| m o 100m| 272.000m| 324,10 . ey ————— ‘18$§ = 2| — 139] 736 ~o08] |B BT o] 21 (AR=E)
= (e 2525008 | 265 o | At frillii ot | 1756 1393 1355 £151% 15 ok ] e RERAOREL
— 265,900/ D ﬁ%ﬁ;ﬁﬁaﬁé ';ﬁﬁﬁ¥§§§]——\$% B[ - 2?3 1393 1;};9 e R 278,278
—HTRBOGRBEN =7 BiLi cov SRR R o DA 35| s “IzoT %
RELHET SHpLROR rg(; 4R BRE) 6 HEMOLSS P ANTINGE 2251 7% ot | - =
—BAREORSE DS 2EICHL 8 DOMRIC fis] (87034 — 8 579 4 x wl B 8 — ol ~1] (28
- g XS T 4818 " w8 579 1 = 1 B5IPA)
R 5 | 1] 2% 3jy&t%&tt[$/)\@t?ﬂ}'(j ey, |[E D] GRPE X 5] amenen ) SO < T 567 2SIl -1 7| ERREOREL
! [ 5 ° a3 h\ A:“— - — _ B 8 4
AR 174 2T |calenalen] & ] 2 B B EAFS i) T S N oy - s St TE
235(252(291 | &t 047,601 682,000 TR%E  6AH BEH 1 o] 556% 13 B el [ 3 (2R =120
6119.7121.1124.4| 9.6 18 11,192 | _ SEE | 635 E/HE 1.658 w8 ~ A 205 5 ,ﬁgg 37 = éé
oleal27 15 hoool | 25| %57 P ] N — s /2Bl - 85| £779 RE & s
00.0 7008 5 g SEZ 6AH 16/58 = 7 1771 892 ~304 P (ERED)
8| 599,000 12@1 16758 = BaK 206; gl 113 299% 391 [peps L o0 HUIES
it 3358 1) EHEHAR. : 21771 2,1 AREES gg B - 4%
& = tE 5 — [£185 14779
Ez 2| — z; 892
S 12,064 2,177 21;;

@ <
L HREEY &
@



